Standings for Neville Harper Cup

No
1

2

Name Total

Tim Wheeler 1 (b2) 1 (b6) 1 (b5) 1 (w3) 1 (w3) 1 (wd) -() 1 (w7) (1W5) 0(b2) -() 8
Ny owl) % b4)-() 1(7) 1(h7) 1(b3) 1(w6) 1 (wS) (1W3) (1W1) O 7%
?ﬁg‘;rlas -()  1(5) 1(w7) 0(bl) 0(bl) 0(w2) 1(b4) 1 (w6) 0 (b2) (1w5) () 5
Tonkn 0D P 1(06) 106) %03 00) 0w -0 -0 () 1(06) 4
poter L 1(06) 0(w3) 0 (wl) -() 2@4) () 1(7) 0(2) 0(b1) 0(b3) -() 2%

Tony Ganner 0 (w5) 0 (wl) 0 (w4) 0(w4) -() 1(dm7) 0(b2) 0(3) -() -() (wd) 2
lan Holden 1(b4) -() 0(b3) 0(w2) 0(w2) 0(w6) 0(wd) 0(b1) -() -() O0¢(b6)1



